02 5 FAFY A AV 2 AS F ) 21=2H?
@ Vi5+1<2vi5-1 @ 2V5+ V7> VB+2V7

@3«/5—4\/§<4\/5—3«/§ @ 3V5-3>5V5-2
® 3-V10<5-2v10

B

@ 2V5+ V7> V5 +2+7

2V5 4+ VT — V5 -2V7 = V65— V7 <0
2 2VE+ VT < B+ 27
@3v5-3>5v5-2
3V5-3-5v5+2=-2vV5-1<0

2 3V5-3<5v5-2
®3-vV10<5-2V10
3-VI0-5+2VI0=-2+ Vi0>0
2 3-410>5-2+10




2.

2< Vx<4% A% x7taslet @, o 2] 3he Fotolat

2=Vi,4=+16

Vi< yi< VI6 & WESE A5 x e
x=25,6,7 89, 10, 11, 12, 13, 14,15, 16
wahA a = 12




3.

2 = x A u), 320 2 x O] AGAFOE vhEA hehd 227

D x? @ x* @ @ x8 (@)xlo

326 — (25)6 — 230 — (23)10 — xlO




31—y 2} @ uj, 31 130 - 30 2 x o T3 A0 Lefuolat,

[
| —

>
> Mt

oHd = Tx

344+ (3*x3%) - (3* x3) =x+9x—3x = Tx




5.

a=3"Tt A 81% & g of W3 Ao
a a’ a3
oy @3 Ogx

B

=3x+1 —=3.3% 3x=g
a , a , 3
s = 3ty = 31 = (4)' = &
3 81




a=2"1 A, 16" & q o T

D 843

@ 8a*




7. 22x32x 50 £ 8 Afelo] qlx] Foedat,

=% Ae) %

| 2
> ®eb: 1274 &=

B

212 x 3% x 510 = 210 % 22 x 32 x 510
=22x3%2x(2x5)10
=22 x 3% x (10)1°
= 36 x (10)1°

whabA 12742 o] Seolet.
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Vi-\B
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@ 2V7-2V3 @ 27 +23
@Vi+E O V-

® V3-7




V3-1 3 )
_ Y o 15
V3+1 \/§E7ﬂ{ Fetet

> cCk

(v3-1)° 3V8_4-2V8_ o
CE
=2-23




. BATAS o] L5to] Vi-V3 3+ V5

£ Aurahn?

VE+V3  V3- B

@ -2v15 @ 2v15 ® -8
@Ds ® 8-2v15
B

Vi-V3 V3445

Vo+ V3 V3-15

_ (V5-V3)®  (V3+ VB)?

2 -2

(V5= V3)2 + (V3 + V5)?
2
_5+3-2V15+3+5+2V15
- 2




1 34+2vV2 3-2V2
x+== +
X 3-2v2 3+2V2
= (3+2V2)2+(3-2V2)2 =34




12. b5 H27] 3 &2 A4S BF A8 A2

@ 4V3-1>3+ V75

© 4-VI2<1+ V3

© -2+3V3<2+ V12

® -3V7T+ V2>-V7-12

va0 066 Gove ®©oce 66

B

@4V3-1>3+ V75
4v3-1-3-5vV3=-v3-4<0
4V3-1<3+ V75

@ -3Vi+ V2> -V7T-+2

=3VT+ V2+ VT+ V2=-2V7+2V2<0
L =3VTH N2 < —NT- 2




13. V2o &4 FEEa. 2+ 3 2F HES v T W, b-a 9
@H2?

@® 3V3-3 (@)2—\/5 ® V3-1
@ 2v3-2 ® 1-3

B 1

3 < VI2 <4 °BE V12 o 5 FE2 3, &5 F2

a=V12-3

1<V3<20]13<2++V3<40B2

2+ V3o A BEE 3 A HLE pi= VB -1

.'.b—a:(\/g—l)—(\/ﬁ_g)
=V3-1-2V3+3=2-13

ro
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™, a* + 6a ©] g -5kt

a= V11-3

a®+6a+9=11
sa’+6a=2




15. VIiT+19dHFFESq, 25 HFESp A T, a+3b 2 G
5HH?
D -7+ V17 Q@ -7+2v17 ®)-7+3V17
@ -7+4V17 ® -7+5V17

4<V17T<50]15<VIT+1<60|B2
a=5b=+VIT+1-5=V17-4
a+3b=5+3(VIT-4)=-7+3V17




